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Note:	 The question paper is divided into three sections. A, B and C. 

Write answer as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. Answer of each question should be given 

in 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKwCÎmamË‘H$ àíZ)

{ZX}e :	 g^r Xg àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 30 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

1)	 Answer the following questions:

	 {ZåZ àíZm| Ho$ CÎma Xr{OE&
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	 (i)	 Write the meaning of statistics.

		  gm§p»¶H$s H$m AW© {b{IE&

	 (ii)	 What do you mean by Questionnaire?

		  àíZmdbr go Amn ³¶m g‘PVo h¡?

	 (iii)	 Define 'Median'.

		  ‘Ü¶H$ H$mo n[a^m{fV H$s{OE&

	 (iv)	 Explain relative measure of dispersion.

		  An{H$aU Ho$ gmnoj ‘mn H$mo g‘PmBE&

	 (v)	 Define Regression.

		  àVrnJ‘Z H$mo n[a^m{fV H$s{OE&

	 (vi)	 What do you mean by Secular Trend?

		  gwXrK©H$mbrZ àd¥{Îm go Amn ³¶m g‘PVo h¡?

	 (vii)	Write any two assumptions of interpolation.

		  AmÝVaJUZ H$s H$moB© Xmo ‘mÝ¶VmE± {b{IE&

	 (viii)	Define Geometrical series.

		  Á¶m{‘Vr¶ loUr H$mo n[a^m{fV H$s{OE&

	 (ix)	 If y e x2= , then find 
dx
dy
=  ?

		  ¶{X y e x2= , hmo Vmo 
dx
dy
=  kmV H$s{OE&

	 (x)	 What do you mean by Index Number?

		  gyMH$m§H$ go Amn ³¶m g‘PVo h¡?
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should be given in 200 
words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 200 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 10 A§H$mo H$m h¡&

2)	 Define statistics. Describe its functions and importance.

	 gm§p»¶H$s H$s n[a^mfm Xr{OE& BgHo$ H$m¶© Ed§ ‘hËd H$m dU©Z H$s{OE&

3)	 Describe the essential characteristics of a good questionnaire.

	 EH$ AÀN>r àíZmdbr Ho$ Amdí¶H$ JwUm| H$m dU©Z H$s{OE&

4)	 Explain the utility, advantages and limitation of diagrammatic 

representation of  facts.

	 VÏ¶m| Ho$ {MÌ‘¶ àXe©Z H$s Cn¶mo{JVm bm^ VWm gr‘mAm| H$s {ddoMZm 
H$s{OE&

5)	 Calculate the value of mode and median from following data:

	 [ZåZ{b{IV g‘§H$mo go ~hþbH$ VWm ‘Ü¶H$m Ho$ ‘mZ kmV H$s{OE:

Marks (Less than)

àmám§H$ (go H$‘)
80 70 60 50 40 30 20 10

No. of students

{dÚm{W©¶m| H$s g§»¶m
100 90 80 60 32 20 13 05

6)	 Explain the term Dispersion. What are the various methods of 

measuring dispersion? Explain any one of them.

	 An{H$aU H$mo g‘PmBE& An{H$aU H$mo ‘mnZo H$s H$m¡Z-H$m¡Z gr {d[Y¶m± 
h¡? BZ‘o go {H$gr EH$ H$mo {dñVma go g‘PmBE&
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7)	 Obtain the two regression equations and coefficient of correlation 

from following data:

	 {ZåZ Am±H$‹S>mo go XmoZm| àVrnJ‘Z g‘rH$aUm| VWm gh-gå~§Y JwUm§H$ H$m 
{ZYm©aU H$s{OE:

x 08 06 04 07 05 03
y 09 08 05 06 02 06

8)	 Solve the following system of equation by Crammer's rule :

	 {ZåZ g‘rH$aUm| H$m H«o$‘a Ho$ {Z¶‘ go hb H$s{OE:

	
2 09

2 3 14

x y z

x y z

x y z2 3 11

+ + =

+ + =

+ + =

9)	 Find the value of ,
dx
dy

 If value of y given as following:

	
dx
dy

 kmV H$s{OE, ¶{X y H$m ‘mZ {ZåZ {b{IV hmo:

	 (i)	 y
x x
x x

6 7 10
3 5
3 2

2

=
+ -
-

	 (ii)	 y x2 32= -

	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. Answer of each question should be 
given in 500 words. Each question carries 20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýhr Xmo àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 500 eãXmo§ ‘| 
Xr{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 
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10)	 From the following data calculate the value of Arithmetic mean, 

standard deviation, its coefficient and coefficient of variation.

	 {ZåZ{b{IV g‘§H$m| go g‘mÝVa ‘mÜ¶, à‘mn {dMbZ, BgHo$ JwUm§H$ VWm 
{dMaU JwUm§H$ H$s JUZm H$s{OE:-

Marks (Less than)

A§H$ (go H$‘)
10 20 30 40 50 60 70

No. of students

{dÚm{W©¶m| H$s g§»¶m
10 25 50 75 85 95 100

11)	 (i)	 Write a short note on importance and uses of Index number.

		  gyMH$m§H$m| Ho$ ‘hËd VWm Cn¶moJ na EH$ g§{já {Q>ßnUr {b{IE&

	 (ii)	 Calculate the Fisher's ideal index number from following data:

		  {ZåZ{b{IV g‘§H$mo go {’$ea H$m AmXe© gyMH$m§H$ kmV H$s{OE:-

Commodity
dñVw

Base year (AmYma df©) Current year (Mmby df©)

Price 
H$s‘V

Expenditure 
ì¶¶

Price 
H$s‘V

Expenditure 
ì¶¶

A 08 80 10 120

B 10 120 12 96

C 05 40 05 50

D 04 56 03 60

E 20 100 25 150
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12)	 What do you mean by 'Analysis of Time Series'? Explain the utility 

of such analysis in business. Explain briefly the different components 

of time series.

	 H$mb loUr Ho$ {díbofU go Amn ³¶m g‘PVo h¢? Eogo {díbofU H$s 
ì¶dgm¶ ‘| Cn¶mo{JVm H$mo g‘PmB¶o& H$mb loUr Ho$ {d{^Þ g§KQ>H$m| H$mo 
g§jon ‘| g‘PmB¶o&

13)	 Differentiate between Interpolation and Extrapolation. Discuss the 

different methods for interpolation and extrapolation.

	 AmÝVaJUZ Am¡a ~mø JUZ ‘| AÝVa ñnï> H$s{O¶o& AmÝVaJUZ d 
~møJUZ H$s {d{^Þ [a{V¶m| H$s {ddoMZm H$s{OE&


